u=m’ QSin?

nand g m n B+pc°szﬁ=n-

A8 f ==
tanp €qual to?

L aincq)

(mfp)(n—p)
() - 2=0( - p)
~ (m-p)n-q)

B are complementary angles,
hich one of the following is

[P.T.0.




For the following two (02) items : 10. What is tan® +cot® equal to?

1+sin® 3
cosB p+\[P_+—1- (a) %
7. What is sec® equal to? (b) Y
(@ p p
(b) p?+1 .
(c) 7
(©) _QL—
ps+l
2
@ =2
(@ —2— P
p2 +1
B TESO 11. If 1’2+,,2+1/2+4/2+... = cosecH, then
e what is sin® equal to?
(b) p?+1 B
: 1
. ) —— =
Be &
, (d) o :
. 3 a
4 © %
@ =
For the following two (02) items :
Let sin® +cosb=p and secH +cosecb =4,
where p # L 12. If 8sin®-cos® =4, where 0<0<m/2

i ?
9. What is the relation between p and q? then what is cosec6 equal tor

(a) P=¢1(P2—1) (@ 1
) 2p=ap® -1 (b) 3/2
5 /3
@ a=p°-1 () 5/
d
(d) 2g=pp? -1 (@ 2 i
B [P.T.O.
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13. If 2tan9=sec29—2, where 0<0<m /2,

then what is cot8 equal to?
(@ J2-1
(b) v2+1
() J3-1

(d J3+2

14. What is (sec - tane)- |1=S1®
1+sin6
to?

(@ O
(b) 2tanb
(c) 2sech

(d) sin6 +cosb6

15. If cot® = +/7, then what is

cose029 —sec?8

cosec29 + sec? 0

equal to?
(@ 1/2
(b)) 1/3
(c) 2/3

(d 3/4

ANFB-T-EMT/45B

equal

ket ‘17::!" SNTEY D -
A t,‘uum@‘“ﬂlﬁhunnu.

16. The difference between the two acute
angles in & right-angled triangle is

_112 radian. One of the acute angles of
the triangle is

(@) 60°

(b) 57-5°
(¢ 52:5°
(d) 47-5°

17. If o and B are the roots of the equation

o [998+Jx2 —18x+76 ] 3

then what is (@ —B)? equal to?
(@ 16
(b) 25
() 36
(d) 49

18. If xit oyt 14x2y?, then consider the
following :

I. logm(x2 -+ yz)
= log; o x +10g; y+210g10 2
1I1. 1(_',g10(x2 —y2)=log10 X +log10 Yy
+1log, o 2+0-5l0g103

Which of the above is/are correct?
(@) I only

(b) 1I only

() Both I and I

(d) Neither I nor 1I

[P.T.O.
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19. Which of the following is/are the factor(s) aa; S BHOR Bfix anc Y is H. Consider
of (3x+ y)z +(3x+ y)(x + 5y)-20(x + 5y)2? Arie following statementz in respect
ST
I. CF of =—= A
@x +13y) of the H k x2—xy+y2 and
. (x+19y) 3_ 3
q= 2
Select the correct answer using the xt+xyty

code given below.

1. The HCF of p and g can be H.
(a) I only ;

(b) 1I only

(c) Both I and II

II. The HCF of p and g can be 2H.

Which of the statements given above
is/are correct?

(d) Neither I nor II (a) 1 only

3 11 only
 20. What is (b)

(c) Bothl and II

X y A '
+ + i :

ey Yo 2 LK (d) Neither I nor II i
x+y+y+z+z+x+3 "
g Y = 2 \ 23. If x* = x2 +1, where x > 0, then what is i
equal to? : 2x4 equal to? f’%
: (@ 1 (@ 2+3 §=1
(b) 1/2 () 3+45 =
& : in
© 1/3 © 5-243

(@ 1/4 (d 3-+5 :;.'\

21. What is the remainder When 24. B AL TES, g inz0, (s+P*0

25 1925) gq+tr s+p ‘

(17 Sk then which one of the following is
correct?

is divided by 18?
(@ p+q+r+s=0

(@ O
(b) p=r
®) 1 .
e 3 Z) Either p+g+r+s=0or p=7
N
(d 9 one of the above

. [P.T.0.
~ ANFB-T-EMT/45B
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n followeq by two
L3 1L Consider the
tatements

n the expansion of
L 1. What is
. digit D?
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A Quest;

s : < A
Statem:;:: is given followed by twg
Question, S I and II. Consider the

and the Statements.

Question, -

I :
In A triangle ABC, ZA=/ZB- ZC.
S angle A acute?

Statement-] -

ABC is not an
; obtuse-angled
triangle. g

Statement-II :

Angle C is acute.

Which one of the following is correct in
respect of the above Question and the
Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

() The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

e answel‘Cd

uestion can b
(d) The Ques o

even without using any o
Statements

ANFB-T-EMT/45B
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65. A Questior e

given followed by ty,
and II. Consider the

tements
s d the Statements.

Question art

Question *

In a triangle ABC right angled at B,
AC =20 cm. What is the circum-
radius of the triangle?

Statement—-l 5

AB=12 cm

Statement-1I :

BC=16 cm

Which one of the following is correct in
respect of the above Question and the
Statements?

(a) The Question can be answered by

~ using one of the Statements alone,

but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(¢} The Question can be answered by
ua}rxg both the Statements
tog;gt;hcr, but cannot be answered
using either Statement alone

(d) The %Qhestion can be answered
eVen without using any of the
Statements

[P.T.O-

g




66. A QUestiOn

statements
Question gy,

is given followed by twq

I and II. Consider the
d the Statements.

Question .
a parall i
ARG e i

If the area of the
parallelogram is 7.3 square units,

then what j ;
1s the perimete
ParaIIGIOgramp P r of the

Statement-] -

The lel'lgths of the sides AB and DA
are prime numbers.

Statement-II :

The lengths of the sides are natural
numbers each greater than 1 unit.

Which one of the following is correct in
respect of the above Question and the
Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can pbe answered by
using either Statement alone

{c) The Question can be answered by
using both the Statements

together, put cannot be answered
using either Statement alone

ered
(d) The Question can be anz\;l W
even without using any
Statements

ANFB-T-EMT/45B
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67. A Quest®

n is given followed byt

s 1 and II. Consider the

Statement
Question and the Statements,

Question *

AB and CD are chords of a circle
intersecting  at P. If APxpR
_ 48 square units, then what js

CP x PD equal to?

Statement—-l ;

AP = 8 units

Statement—ll :

CP = 10 units

Which one of the following is correct in
respect of the above Question and the
Statements?

(a) The Question can be answered by

- using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
RS either Statement alone

(0 The Question can be answered by
g both the Statements
\ ;;hther, but cannot be answered
“‘QS either Statement alone

\(d) The Question can be answered

EVen: without using any of the

Statements

[P.T.O.




AR Ouen
esti W - TR
"Sﬁateme::; 2 ElYen followed by twq
Quesﬁo 1 and 1L Consider the
N and the Statements.

followed by ty,
II. Consider the

Qnesﬁon :
3:16 2 : Quadﬁlgteml ABCD, AB A s i eslftrtiingle with
Lo Lmits, BB SIEGE M cD T
o ‘llmts, DA =9 units. What is i square units,
¢ length of diagonal BD? ‘ st of the
Statement-] .

SO

Pl
= of the fi ing i it : : . :
e ollown{g‘ {s correct in | . owing is correct in
‘the above Question and the L EEL S

pe g.nswered by
he Statements
ot be answered
ment alone

i [ PTO.







of a triangle Apc
B-AC)=q anq
is BCequal to»

The diagonals of a rhombus ABCH
3 :;e ln the ratio 5:19, Is one of
€

Bonals equal to side of the
thombygy %

1d the radius of
s 21 cm, and the
he height. If the
the cylinder is
s the volume of




e same path.
of 4-8km/hr
ed of 6 km/hr.




